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Math 704.5 Approximating the Solution(s) to an Equation Using the Graphing Calculator

~Intersection of Graphs Method:

1) Solve 2mx - 5.6 = 7(x — z) graphically using your graphing calculator.
(a) For this equation, what function(s) do you graph in your calculator?

(b) For the method you chose, where/how do you find the solution(s)?

(c) Round the solution to four decimal places.

x-intercepts Method:

2) Solve 2mx - 5.6 = 7(x — xr) graphically using your graphing calculator.
(a) For this equation, what function(s) do you graph in your calculator?

(b) For the method you chose, where/how do you find the solution(s)?

(c) Round the solution to four decimal places.
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Math 70 Approximating the Solution(s) to an Equation Using the Graphing Calculator

—Intersection of Graphs Method:
1) Solve 27x +5.6 = 7(x — x) graphically using your graphing calculator.
(a) For this equation, what function(s) do you graph in your calculator?

V1= AWK +5. 6 <« br Vice~versa
VYa=FX-T D)
(b) For the method you chose, where/how do you find the solution(s)?

Twe X— coorc\/m.aﬁﬁe, off e @\M of \V\"‘\'CTS—QC:EﬂO\/\
ov poind wihece gremphs (niersect,

(c) Round the solution to four decimal places.

X2~ 23.86664
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x-intercepts Method:

2) Solve 2mx +5.6 = 7(x — ) graphically using your graphing calculator.
(a) For this equation, what functlon(s) do you graph in your calculator?
Y= 3aWx+ 5.6 —T7(X-T) o or subtrack LHS feom RHS

(b) For the method you chose, where/how do you find the solution(s)?
“Twnhe X-coovdinade of Yhe X—inte \rce“p—\' N
o poiwk where graph Yntersects the x-axis.
(c) Round the solution to four decimal places.

X2 AA.860060HU

VX~ 3. 2666
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